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However if he bought n>7°y and ns112%7 — NPTI29TY NITOY a1 PaN

OVERVIEW

The X3 states that the rule of "21 72w nm nx0, does not apply if the »w np1?
bought only n*m2°n N>y (and no N°111°2). The reason is, for the "1 1?17 can say to
the r"va; ‘I was especially careful to buy (only) n°112°1 n>7°y, which are properties
that are not due to you’. It is not clear from the X33 what properties remain by the
PR N7 (whether they include n°111°2 or not). It would seem that the PWRY 117
does not have no11°2, for otherwise the *1w np1? could have said to the n"va that
max? opn 72 °nman, by the PWX nP17. Our MOOIN rejects this notion.
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It seems to N1d01N that the X723 could rightfully be discussing even a case where

the *1w 117 left over N33 by the Mwr A.! The wxa np1» has N1, and -
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Nevertheless in order not to have the "3 1> pay the 1"y, it was necessary to
utilize the explanation of ‘therefore I troubled myself and bought a land which
is unfit for you, etc.’ It is only on account of this explanation that the >3 117 is exempt from
paying the n1"y2 -
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For the *1w n71? cannot be exempt from paying the 7"va by saying to him. ‘I have
left you a place (by the w1 1?12) from where to collect’-
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As the X713 will shortly state, concerning the case where the *1w n1% left over a
similar ns111°2 by the Pwx np1». The argument of @pn 7% >nNan may be valid there when the
1w 1?12 bought N°1°2 and was 7PN N2 P°aw; however it is not valid here when the *1w 1
purchased n>12°1 n°7°v. The reason is -
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For perhaps the 1''v2 prefers (a little extra) n%912° more than less n°11°3 -
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And the 11"v2 could have taken slightly more n°712°1 (even) against s')waw will -

! See “Thinking it over’ # 1.

* Actually the n012°7 is a land that is 72 *in as Moo will soon demonstrate. However, since usually the 1"ya prefer
n 3, therefore the argument of °rnv °5777 is a valid one. See 7"m11 >"1d.

? See the following ¥ "7 MpoIn, that in reality this refers to the argument of 121 *3w% MWK 191 An.

* The n"v2 can force the nPY2 (and similarly the 719) who has n°112°1 12 7Y to let him collect from the n>M2°r,
even though there are n>112.
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As the X3 stated previously; ‘that if so (if we will not allow the m>n to collect
XN "5v N°712°7), then you’ have shut the door in the face of the borrowers’.
People will refuse to lend, if you limit their capacity to collect only to n°111°2 and exclude them
from n>12°1. Therefore, the *1w npY? cannot prevent the n"va from collecting the n>12°7 (on
account of the argument 121 °nni7), for since the MWRY 1?12 himself could not have denied the
n"va the n™121,° neither can the 1w mp1>,” if not for the argument of 121 17 9.8

mooin qualifies his statement:
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And the X3 did not need to utilize the explanation of XY7 R¥IN N1ty 17w 2>
T "1 (and would not be satisfied with the explanation of 21pn 7% °nnii), only
because the *1w 1?12 bought N335 (in which the 1"va has a claim) -
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However on account of the "3 1?> buying n>7°y and leaving over n>m12%
N2y by the WX 117 it was not necessary to utilize the explanation of 121 77w *3i7%,
for in such a case we would say -
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That just as 'w»w (when he owned all the fields) could defer the 11"v2 from n 7y,
and have him collect only from the n 121 no192, so too % can defer the n"va
from collecting from his n>7°¥ and have him collect from the n°112°2 and n>12°7 of the PR IPI7 -
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for what did the first 771> sell to the second i?7; all the rights that he will
acquire. The nwx1 npY» could defer the n"ya from N7y to M2 N N3, that same right is
transferred to the >3 1?17 that he can defer the n1"'va from his n>7°v to the N 12°1 N 12 of the P
RN,

59,1 wh.

® The claim of *nA3T as *¥» 7"72 MO explains is really the claim of “1w% WK1 721 71, and since the PWRA P17
cannot force the 1"va to collect from n°111°3, neither can the 1w npY>.

" However, when °n1>7 n°n1n 772w by the NWXA P17, then just as the WX NP1 can offer the Mn the n°111°2 that the
nY2 chooses (the n"va cannot decide which of the similar n°111°2 to collect from), similarly the "1 npY? can deflect
the M%7 to collect the n°111°2 from the WK P12, See following *x» 7"7 Moo, See ‘Thinking it over” # 2.

¥ oo does not explain why the claim of "2 °17v °377% is (more) effective (than the claim of @pn 7% *nna). See n'"m
(in the 7% 787 7"72 'M3) and 1o NIX 7"o0 for their respective explanations.

’ It would seem that Mmoo is discussing a case where the 1WwX1 nPY? bought the n1y last. The 1w npY> can
nevertheless defer the n"va from the n>71°v through the npnw X claim. However if the WX 11 did not buy the n>7y
T1InRa, then the " 11?2 need not argue anything with the n"va. The n"va has no right to n>7°v. See »"n1 [See
however (150 77v7) 7"aR]. See also vd7 NIX 1"1 M 197 MR °"73, who explain that a n"va cannot collect from n>7y if
the npY2 (or M?) who has the n>7°v has also n°111°2. However if the n?1? only has n>7°y, he cannot deter the 1"va from
collecting the n*7°y by claiming that another n1? has N2, w"»y.
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SUMMARY

A 1% cannot prevent a 1"'va from collecting *5v n>12°1 instead of n°11°2. Therefore
if the *3w 1?12 has N>12°7 and the WX P2 has n°10a the "1 nY? cannot simply
argue that 2pn 77 °nian, for it is the right of the 1"va to choose n>M2°1. However he
can prevent him from collecting the nN>712°7 by arguing 17 X927 RYIR 1211 P77 23777
.

THINKING IT OVER

1. Moo begins by stating N°111°2 PawT 120K 70w *77KR7. This seems to indicate that
it is simpler to assume that the NWwX 1?17 has no nnra.'Y However if the NWRI 117
has no n111°3, then certainly the n"va can collect from the N2 of the 1w npY?!
How can the "1 > refuse payment to the "ya?!"!

2. It appears from mooIn that the 1?12 cannot defer the n1"va from N2 to nN°1a
(and certainly not from n°111°2 to N°M12°7); however he can defer the 1"va from one
1A to a AT nonra.'? Why is there this discrepancy?!'?

10 See footnote # 1.

' See 912" ,7"w 0" ,0"mn.
12 See footnote # 7.

3 See n"m.
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